
Kf;fpa Fwpg;Gfs; 

epiykk; 

xt;nthU nghUSk; jd; kPJ rkd; nra;ag;glhj Gwtpir nray;glhj tiu Xa;T 
epiyiaNah> my;yJ nrd;W nfhz;bUf;Fk; NeHf;Nfhl;L ,af;f epiyiaNah 
khw;Wtij vjpHf;Fk; jd;ik MFk;. 
 Xa;tpy; epiykk; - epiyahf cs;s xt;nthU nghUSk; jkJ Xa;T epiy 

khw;wj;ij vjpu;f;Fk; gz;G Xa;tpy; epiykk; vdg;gLk;. 
   v.fh: fpisfis cYf;fpa gpd; kuj;jpypUe;J fPNo tpOk; ,iyfs;. 

 ,af;fj;jpy; epiykk; - ,af;f epiyapy; cs;s nghUs;> jkJ ,af;fepiy 
khw;wj;ij vjpu;f;Fk; gz;G MFk;. 
   v.fh: ePsk; (m) cauk; jhz;Lgtu; jhz;Lk;Kd; rpwpJ J}uk; XLtJ. 

 jpirapy; epiykk; - ,af;f epiyapy; cs;s nghUs;> ,aq;Fk; jpirapy; ,Ue;J 
khwhJ> jpirkhw;wj;jpid vjpu;f;Fk; gz;G MFk;. 
   v.fh: XLk; kfpOe;J tisghijapy; nry;Yk;NghJ xU gf;fkhf rha;jy;. 

epA+l;ldpd; Kjy; 
tpjp (m) epiyk 
tpjp 

xt;nthU nghUSk; Gwtpir VJk; nray;glhj tiuapy;>  jkJ Xa;T epiyapNyh 
my;yJ rPuhf ,aq;fpf; nfhz;bUf;Fk; NeHf;Nfhl;L epiyapNyh njhlHe;J ,Uf;Fk;. 

epA+l;ldpd; ,uz;lhk; 
tpjp (m)tpirapd; 
tpjp 

nghUs; xd;wpd; kPJ nray;gLk; tpirahdJ mg;nghUspd; ce;j khWghl;L 
tPjj;jpw;F NeHjftpy; mikAk;. NkYk; ,e;j ce;j khWghL tpirapd; jpirapNyNa 

mikAk;. 𝐅 ∝
∆𝐩

𝐭
  (my;yJ)  F = ma 

epA+l;ldpd; 
%d;whk; tpjp 

xt;nthU tpirf;Fk; rkkhd vjpH tpir cz;L. tpirAk; vjpHtpidAk; vg;NghJk; 
,U NtW nghUs;fs; kPJ nray;gLk;. FB = - FA  gad;ghL : uhf;nfl; VTjy;. 

Neu;f;Nfhl;L ce;j 
moptpd;ik tpjp 

Gw tpir VJk; jhf;fhj tiuapy; xU nghUs; my;yJ Xu; mikg;gpd; kPJ 
nray;gLk; nkhj;j Neu;f;Nfhl;L ce;jk; khwhky; ,Uf;Fk;. 

epA+l;ldpd; nghJ 
<Hg;gpay; tpjp 

mz;lj;jpy; cs;s nghUl;fspd; xt;NthH JfSk; gpw Jfis xU Fwpg;gpl;l tpir kjpg;gpy; 
<Hf;fpwJ. mt;tpirahdJ mitfspd; epiwfspd; ngUf;fw;gyDf;F NeHtpfpjj;jpYk;> 
mitfspd; ikaq;fSf;fpilNa cs;s njhiytpd; ,Ukbf;F vjpHtpfpjj;jpYk; ,Uf;Fk;. 
NkYk; ,t;tpir epiwfspd;; ,izg;Gf; Nfhl;bd; topNa nray;gLk;. 

 

 

Kf;fpakhd R+j;jpuq;fs; 
 tpir                                   : F = m × a 

 Neu;f;Nfhl;L ce;jk;          :  p = m × v  

 tpirapd; jpUg;Gj;jpwd;    :  τ = F × d 

 ce;j khWghL :  ∆p = Pf − Pi  =  mv − mu 

 ,ul;ilapd; jpUg;Gj;jpwd; :  M= F × S 

 fzj;jhf;F                    : J = F × t = ∆𝑝 

 epA+l;ldpd; nghJ <u;g;G tpjp  : F =  
𝐺𝑚1𝑚2

𝑟2  

 Gtp<u;g;G KLf;fk; :  g = 
𝐺𝑀

𝑅2  

 vil                    : W = m × g 

 ,af;f Mw;wy;   :  𝐸𝑘= 
1

2
 𝑚𝑣2 = 

𝑝2

2𝑚
 

Kf;fpakhd kjpg;Gfs; 
 

 Gtp<u;g;G KLf;f kjpg;G 

   G+kpapd; kPJ (g)  = 9.8 ms−2 

     epytpd; kPJ  = 1.625 ms-2 

 G+kpapd; Muk; (R)      = 6378 km ≅ 6400 km 

 Gtpapd; epiw kjpg;G (M) = 5.972  × 1024kg 

 <u;g;gpay; khwpyp   =  6.674  ×10−11 Nm2 kg-2 

 1 N      = 1 kg m 𝑠−1  = 105 ild; 

 1 fpfp tp = 9.8 N           = 98 × 104 ild; 

 1 fp tp    = 9.8 × 10−3N = 980 ild; 
 

Kf;fpakhd Nfhl;ghL 
 rkepiyapy; cs;sNghJ xU Gs;spapd; kPJ 

nray;gLk; midj;J tpirfspd; 
jpUg;Gj;jpwd;fspd; $Ljy; Ropf;F rkkhFk;. 

 


